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EXAMPLE 3. Let H be generated by μn = n(n — 1/2)/(n + l)(n + 2).
We can regard H as the product of two Hausdorίf matrices Ha and
Hβ, with generating sequences an = (n — 1/2)/(n + 1) and βn = n/{n + 2),
respectively. From Theorem 1 of [1], the sequence t = {tn}, with
t0 = 1; tn = (-l)%(l/2)(-3/2). - (-n + 3/2)/%!, n > 0 satisfies ίfiα = 0.
Therefore ί/ί = 0. Let B be the matrix with the sequence t as each
row. Then
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Line 12 should read "the universal verity of the conjecture [5,6]".
Instead of the universal verity of the conjecture [1, 2].

The first page should be 263 instead of 163.






